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The Area of a rectangle is 27m? and its length is 3 times of its breadth. The
perimeter of the rectangle is:

3T I &FABd 27412 3R 59| ddlg, 39| dlslg DI 3 70N 6| 3 D)
Uﬁﬂmé

24 m

12 m

42 m

28'm
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Thevalue of 30 =6 x5 of (2+ 3)-12(3 x 2) is equal to:

30 + 6 x 5 P (2 + 3) - 12(3 x 2) BT A SR -

28
35
82

53
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A wheel makes 4000 revolution is covering a distance of 60 km. The radius
of the wheel is:

Ud Ufgdr 60 fhdt Bl g3l 0 ®=- & U 4000 Fadh 1Al ¢ | Ufgdl ot HsdT
B:

8 m

8.25 m

4.68 m

2.39m
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In class [X, the average of marks in science for six students was 48. After
result declared, it was found in case of one student, the marks 45 were
misread as 54. The correct average is :

D IX H, ©: BEI DI (A3 H 3P| BT 31d 48 AT| URUM "IN §1H & dlg,
0P S I [UMT A T8 YT ™ B 3P 45 & TIF TR 54 Ul 71471 47| Jol
Gﬁ“v'lﬂ%'

a) 46.40

b)46 .50

C) 76 50

d) 64.39
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In a class, the average age of 40 students is 12 years when teacher’s age is
included to it, the average increases by 1. The age of teacher is:

U H&l H, 40 BT Pl 3{9d 31 12 98 §, Oid [R1&fd DI Y Pl 399 AMHA
[T ST 5, 3119d 1 96 Siidl o | [R1&® of 31 6:

a) 53 years

b) o1 years
C) 48 years

d) 68 years
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The difference between upper limit and lower limit of the class interval is
called as:

Il 3R DI 3ffeHad AT 3R YAdH AHT & did 3R DI del Sl o:

a) Range T
b) Mode dgcidh

C) Frequency distribution FRER]

d) Class size

i PR
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In how many years, a sum will be thrice of it at the rate of interest 5% per
annum?

fobcH aul , 5% =TSl &R UR g A oI 0T gl SIu?

25 years
40 years
30 years

20 years
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If (X +y):(X-y)=3:2, then (x? + y?) : (X% - y?) is in the ratio of:
gie (x +y) : (x-y)=3:2,dl (x2 +y?) : (x2 - y2) D U H B:

12:13

5:12

13:12

24 :95
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In a university, the number of students studying science, mathematics and
language are in the ratio of 2 : 4 : 9. If the number of students in Science,
Mathematics and Language be increased 10%, 20% and 40% respectively.
What will be the new ratio?

U fagyfaare o, {93, Ti0rd 3R UINT BT ST B dIcl DT DI GBAT 2:
4: 9. 3Urd H g1 Al [, 0 SR HINT &b S| I T H hHRE: 10%,
20% 3R 40% DI i< 85 & | Al F4T 34T T GI?

12 :23:63

11:24:63

24 :11:63

63:11:24
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‘A’ pipe can empty a tank in 20 minutes. The second pipe ‘B’ has a diameter
twice as that of ‘A’. If both A & B pipe are attached to the tank how much
time will be required to empty the tank?

g1y ‘A Pl B 20 8- H AIell SR Jhdl ¢ | GORT Ursy ‘B'HT A A GRIAT
g1 gfc GHI UIgT A SR B Sl A IS @, dl el Bl Wil d- & ferd foba T3
DI GGDHdl g2

10 e
25 fie
15 fie

4 fie
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Rama and Hari can together finish a piece of work in 15 day. Rama works
twice as fast as Harli, then Hari alone can finish work in :

M 3R R AddR 15 fa T U D1 R HR Jobd ¢ | I, TR I a1 701 2y

ST PIAT ©, dl 8 3P I JATT B Ihdl ©

45 days
30 days
25 days

20 days
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The compound interest on an amount for 2 years at 5% per annum
compounded annually is X205. The simple interest Is:

U AR R 5% & X A 2 94 & e Fspgfs arfties Gaifora fr 205 €1
ATYRU] AT &

250 2

2202

200 2

2102
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The distance between the two stations is 500 km. A train starts from station
‘A’ at 9 am and travels towards station ‘B’ at 60 km/hrs. Another train starts

from station ‘B’ at 10 am and travels towards ‘A’ at 40 km/hrs. At what time
both the train meet to each other.

&l Rl & &l ﬂﬁ@%ﬂ%%l@ﬁgﬁmilaﬁﬁ-&lﬁ A I 9ddl g 3R
60 fohHil/der ¥ WRH ‘B’ I 3R Sl g1 Ub IRl ¢ 10 3URIg H ¥R B’
%m?ﬁ%a_ﬁwfo e I A D 3R g1 Bl ¢ | [T 5 Gl ¢ U gar
SRERGIN 12.45 PM

1.36 PM

3.36 PM

2.24 PM
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If tanezé, then what is the value of

9

5sin®+9cosH 5
Dsin®—-9cos6

5sin 0 + 9 cos 0
qﬁtme:gﬁ,ﬁ SOYTICOS” w1 A T B2

H5sin® -9cos 6

17 —27 31

-b3
(1) 12 (2) o8 (3) o5 4) -5
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The value of (sin? 25° + sin? 65°) is :
(sin? 25° + sin? 65°) =1 A fdT  grm?

J3 2

(1) o (2) 1 (3) 0 (4) /3
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1 1

_I_ -
The value ot (1+ tan? 0) 1+ cot? 0) 1S

1 1

T -
1+tan20) (1+cotZg) T ¢

1 O 4
(1) 2) 1 ®, @3
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A tower stands on the top of a building which is
40 metres high. The angles of depression of a point
situated on the ground from the top and bottom
of the tower are found to be 60° and 45° respec-
tively. What is the height (in metres) of tower ?

Tk o TSl 9 40 HieX 2, & e W & dH R
Tt g1 AR & IR qon U fag 9§ 9ff w feom
fag &1 STIHT HIU HAW: 60° TAT 45° Tl HHAR ]
HaE (HeX °) o 22

(1) 20 /3 (2) 30 (V3 +1)

(3) 40 (V3 —1) (4) 50 (v/3 1)
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The measures (in cm) of sides of a right angled
triangle are given by consecutive integers. Its area
(in cm?) is

Teh HHIUT TS &l qonedi sl Arg (T H) AR A=
el qUTteRt g1 & St €1 39T el (T H) Bhm—
(1) 9 (2) 8 (3) 5 (4) 6
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If the numerical value of the perimeter of an

equilateral triangle is /g times the area of it,
then the length of each side of the triangle is

Iz fordt woag e & IRAw &1 gedd 7 SuE
&S H [3 T T, A Y FT e GO FT dAdE e

(1) 2 units / gfe (2) 3 units / e
(8) 4 units / gfe (4) 6 units / e
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The median of an equilateral triangle is 6 ,/3 cm.
The area (in cm?) of the triangle is

T GHETg e @ mftas 643 9l ®1 W e @
gkl (Y2 H) B
(1) 72 (20108  (3)72J3 (4)363




